NOTHING BEYOND MEASURE

XD Laser Interferometer
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XD LASER At

Precision Laser Measurement System

Standard XD™ XD1™ XD3™ XD5™ XD6™
MY Oz =4
2olls +0 2um +0 2um +0.2um +0 2um
e 0-45m 0-45m 0-45m 0-45m
dez 0 5ppm 0.5ppm 0 5ppm 0 5ppm
Az 23
2ills - +0.17um +0.7um +0 Tum
£ 72 - 15m 15m 15m
=23 de - +0 5ppm +0.5ppm +0.5ppm
de - +(2um + 0.4pm/m) £(Tum + 0.2um/m) £(Tum + 0.2um/m)
E= 2UEE2219| 2% Ee= Z0EE30 1% Ee= Z0EE30 1%
22t =4
Hae - £(1.0 + 0.4arcsec/m) | £(1.0 + 0.2arcsec/m) +(1.0 + 0.2arcsec/m)
2ie =24
2t Folls - - +0.1arcsec +0.1arcsec
=23 Az - - 25m 25m
23 e - - + 800arcsec + 800arcsec
Pitch & Yaw &%= - - £(1.0 + 0.1arcsec/m) £(1.0 + 0.1arcsec/m)
Ee ZUEE 9| 2% Ee= ZUEE2212 2%
Roll 82 =(=H=Zonly) | - - - +1.0arcsec/m
L= ZUEE2220 1%
Bz =54
JqEe - - - +(1.0 + 0.2arcsec/m)
=0 > 3.0m/sec > 3.0m/sec > 3.0m/sec > 3.0 m/sec
st 23
e FEe +0.2C +0.2C +0.2C +0.2¢C
7|18 HEte +1.0mm Hg +1.0mm Hg +1.0mm Hg +1.0mm Hg
AMUEE HEe +5% +5% +5% +5%
e 2= Je= 0.1c 0.1c 0.1c 0.1Tc
20|24 Atk
2o|x & Helium Neon Helium Neon Helium Neon Helium Neon
= 0| AlZt TAI2t 1A12 TA12 TA12
o 23 +0.2ppm +0.2ppm +0.2ppm +0.2ppm
204 & 50,000A|2k 50,000A|2t 50,000A|2t 50,000A|2t
A2 -5T - 40T -5T - 40T -5T - 40T -5T - 40T
SH 5 0-95%(HI32) 0-95%(HI82) 0-95%(8l82) 0-95%(HIS2)

Aol 23

Class2 Laser

Class2 Laser

Class2 Laser

Class2 Laser
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